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 What is MapReduce?
— Framework for Data Intensive Jobs



MapReduce
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Banker's Algorithm



Pr

PO
P1
P2
P3
P4

O N W N -, P>

Alloc

O R F~ NN T

Current Allocation

O r O OO

Max Need
A B C A B C
7 5 3 6 3 3
3 2 5 1 0 1
10 1 2 7 0 2
2 2 2 0O 1 1
4 3 3 4 3 3

Can P2 request (A:3 B:0 C:0) ?

Total
A B C
12 6 6
Available
A B C
4 0 1
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O N W N -, P>

Alloc

O R F~ NN T

Current Allocation

O r O OO

Max Need
A B C A B C
7 5 3 6 3 3
3 2 5 1 0 1
10 1 2 7 0 2
2 2 2 0O 1 1
4 3 3 4 3 3

Can P2 request (A:3 B:0 C:0) ?

Total
A B C
12 6 6
Available
A B C
1 0 1
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P4

O N W N -, P>

Alloc

O R F~ NN T

Current Allocation

O r O OO

Max Need
A B C A B C
7 5 3 6 3 3
3 2 5 1 0 1
10 1 2 7 0 2
2 2 2 0O 1 1
4 3 3 4 3 3

Can P2 request (A:3 B:0 C:0) ?

Total
A B C
12 6 6
Available
A B C
3 2 5
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P4

O N W N -, P>

Alloc

O R F~ NN T

Current Allocation

O r O OO

Max Need
A B C A B C
7 5 3 6 3 3
3 2 5 1 0 1
10 1 2 7 0 2
2 2 2 O 1 1
4 3 3 4 3 3

Can P2 request (A:3 B:0 C:0) ?

Total
A B C
12 6 6
Available
A B C
5 3 6
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P1
P2
P3
P4

O N W N -, P>

Alloc

O R F~ NN T

Current Allocation

O r O OO

Max Need
A B C A B C
7 5 3 6 3 3
3 2 5 1 0 1
10 1 2 7 0 2
2 2 2 O 1 1
4 3 3 4 3 3

Can P2 request (A:3 B:0 C:0) ?

Total
A B C
12 6 6
Available
A B C
5 3 6
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P1
P2
P3
P4

O N W N -, P>

Alloc

O R F~ NN T

Current Allocation

Max Need
C A B C A B C
0 7 5 3 6 3 3
4 3 2 5 1 0 1
0 10 1 2 7 0 2
1 2 2 2 O 1 1
0 4 3 3 4 3 3

Can P2 request (A:3 B:0 C:0) ? No

Total
A B C
12 6 6
Available
A B C
5 3 6
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PO
P1
P2
P3
P4

Current Allocation

Alloc Max Need Total
A B C A B C A B C A B C
1 2 0 7 5 3 6 3 3 12 6 6
2 2 4 3 2 5 1 0 1 Available
3 1 O 10 1 2 7 0 2 A B C
2 1 1 2 2 2 O 1 1 5 3 6
O 0 O 4 3 3 4 3 3

Can P2 request (A:3 B:0 C:0) ? No
What is the maximum number of A's that P2 could take?



Exams

Please come get them



Fun

Terminal 1 Terminal 2

mkfifo filename

echo “a” >filename cat filename
cat filename
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